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2L A 17.8 JtiEE 17.1 1,728 1,620 756 10] vay L
IZALA 23.6 K B 14.7 2,700 1,944 1,944 0] A LL
ZIES5 12.1 BRE 11.5 2,484 — 2,160 0] A LL
[E<E0y 19.7 E % 19.4 1512 594 432 15 A L
HTE 1.9 BRE 1.3 2,592 2,160 1,080 4f A M
—EOH 6.5 ERE 4.3 1,836 1,620 1,620 4f A M
Fry 63.4 = I 15.4 864 756 648 0] A 8
IE5NAZES 2.3 BHE 1.6 216 151 86 02 A M
hE 7.3 X & 3.7 1,296 972 540 3l A LL
_hE 1.7 ik B 1.0 3,564 — 3,240 3 L
_hE 2 [ 0.5 4212 2,592 2,268 3l A S
125 2.2 ElG 1.0 4,320 3,240 2,700 5] vay
+)L1)— 0.5 & % 0.5 3,780 — 3,564 10 A LL
FRINTGHR 6.9 = B 0.3 130 — 86 0.1 L
LA 31.7 E % 31.6 1,604 — 1,064 10 A L
FoTYA 1.1 BRE 0.8 1,944 1,728 864 4f A L
=S5t 20.2 = I 9.9 1,782 — 1512 5, B M
=Y N 7.7 1,188 — 864 5
ANESSES) 2.8 BRE 1.8 — 1,944 — 0] A 4
Y 8.2 = I 2.9 2,268 2,268 1,836 5/ A L
Y = A0 0.2 756 648 540 25| A L
k< 345 EES 17.6 1,404 — 1,296 4 vay L
d X & 15.3 1,620 1,296 1,296 4 A 24
S 5.2 EES 26 2,808 1,728 1,728 3 vay M
E—<> 7.0
ES5HACL 42 X o 2.8 4,082 2,333 2,333 10 vay L
x93 2.7 BRE 2.6 92 76 59 0.1 A M
[Zht5HY) 12.1 ERE 12.0 1,728 972 778 3l A L
SPVAIFA X » 2,808 - 2,160 150 A LL
MrAL& 3.5 E X 35 2,592 1,890 1,836 5 L
IEhLs 25.6 E 5 20.2 1,080 648 648 10 vay L
[ECTRYNS £ B 1,080 432 432 10] vay LL
[EhiLs x_ 5.1 1,674 - 1,458 0] A L
[E€ AT x_ 1,458 - 1,134 0] A M
=L 0.2 BRE 0.2 486 - 432 1 A
f=Fh&E 374 = B 24.6 2,808 2,700 2484 20 va9 L
5oE&LD 0.2 BRE 0.2 1,080 - 702 0] A L
ELLVE=T 1.3 BERE 0.1 — 119 — 01 M L
ELLV=IT E 5 0.3 - 173 - 0.25| M M
ZADEET 47 E I 2.7 32 22 22 0.1 A
LoHL 3.0 2 [ 25 97 67 65 0.2
ESES TE 394.7
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BMAHMAEE 2.7
INGRH DA 2.7 £ B 24 4,320 — 2,700 5] vay L
INGRH DA kB 5,400 — 3,780 5] vay M
INGRH DA kB 5,940 — 4,860 5] vay S
LEY 1.9 F Y 0.7 7,560 7,344 6,480 17 115
INLULT 1.3 = I 1.1 7,344 7,344 5,616 17 72
L7 2)1LY 0.2 m7r7Y 0.2 4536 4,536 3,240 15 50
YATE 10.9
PErE=IY 35 5 & 35 6,912 3,780 3,780 10
AL 7.0 5 & 7.0 8,424 6,480 5,076 10 40
3HET 5.7
) 5.7 B 5.3 4,104 3,726 3,726 5| bya 22
FTHHE 0.2
ERGS 0.2 X & 0.1 1,944 — 1,728 1.6] vay 3L
B35 0.2 JtiEE 0.2 — 756 — 0.18] vay LL
fipYp) JeiEE - 756 — 0.18] vay L
fipYp) JeiEE - 702 — 0.18] vay M
SESE 1.7
To9x7F 0.3 =I5 0.1 - — — PR LL
F5917F =I5 - 3,629 — 16 A L
To9x7F =I5 - - - PR M
Big 0.7 2 [ 0.5 2,938 — 2,808 14| B 4L
EA—* 0.4 = I 0.3 8,640 — 8,100 4 7
W52 0.1 BRE 162 — 140 025 A 25
W52 BRE - 378 — 025 A S
W52 TA)H 724 — 648 0.28
AOVEF 2.1
7—ILR 1.4 EES 0.5 - 2,592 — N PEY) 5L
ZFDAOY 0.6 BRE 0.6 — 2,160 — 4 B 4L
FULIVAEL 30.8
ERRY 25.1 BRE 21.9 2,700 — 2484 6] A LL
CIEFET LD 5.6 BRE 5.1 4,860 4860 3,780 0] A LL
INTF 17.3 EVEY 17.3 4536 2,948 2,808 15
NAFvTIL 40 EUEY 40 3,780 3,780 3,564 10 5
FoA4)LY 43 —oP 43 5,076 4212 4212 5.8 30
REHET 845




